Clausius-Clapeyron Equation Problems

01. A substance has a heat of vaporization of 16.69 kJ/mole. At 254.3 K it has a vapor 

      pressure of 92.44 mm Hg.  Calculate its vapor pressure at 275.7 K.
02. At 50.14 K a substance has a vapor pressure of 258.9 torr.  Calculate its heat of 

      vaporization in kJ/mol it if has a vapor pressure of 161.2 torr at 277.5 K.
03. A substance has a vapor pressure of 0.2020 atm at 261.5 K.  If its heat of vaporization 

      is 20.94 kJ/mol, calculate its vapor pressure at 240.9 K.
04. At 213.1 K a substance has a vapor pressure of 45.77 mmHg.  At 243.7 K it has a    

      vapor pressure of 193.1 mm Hg.  Calculate its heat of vaporization in kJ/mol.
05. What is the vapor pressure of a substance at 308.1 K if it has a vapor pressure of 

      73.15 torr at 286.6.  Its heat of vaporization is 25.44 kJ/mol.
06. A substance has a vapor pressure of 77.86 mm Hg at 318.3 K and a vapor pressure of    

      161.3 mmHg at 340. 7 K.  Calculate its heat of vaporization in kJ/mol.
Answers

01. 170.6 mm Hg

02. 37.42 kJ/mol

03. 0.08843 atm

04. 20.30 kJ/mol

05. 154.1 torr

06. 29.38 kJ/mol

